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I choose the correct Answer 14x1=14
(1) If fA—B : 1s a bijective function and if n (B) =7 , then n (4) is equal to
()7 (2)49 3)1 (4) 14
() Iff o f(k)=5 where, (k)= 2k—1 Find k.
(1o 2)1 (3)2 (4)4

(3) The first term of an arithmetic progression is unity and the common difference is 4.
Which of the following will be a term of this A.P.
(1)4551 (2) 10091 (3) 7881 (4) 13531

(4) The sum of the exponents of the prime factors in the prime factorization of 1729 is
(H1 (2)2 3)3 44

X the excluded value is

(5) In the expression:

x%+1°
(1) x*+1 (2) no real (3) zero (4) x
(6) When proving that a quadrilateral is a trapezium, it is necessary to show
(1)Two sides are parallel. (2)Two parallel and two non-parallel sides.

(3)Opposite sides are parallel. (4)All sides are of equal length.
(7) If number of columns and rows are not equal in a matrix then it is said to be a
(1)diagonal matrix (2) rectangular matrix (3) square matrix (4) identity matrix
(8) A tower 1s 60 m heigh. Its shadow is x metres shorter when the sun’s altitude is 45° than
when it has been 30° , then x is equal to

(1)41.92m (2)43.92m (3)43m (4)45.6 m

(9) A shuttle cock used for playing badminton has the shape of the combination of
(1)a cylinder and a sphere (2) a hemisphere and a cone
(3)a sphere and a cone (4) frustum of a cone and a hemisphere

(10)  Two poles of heights 6 m and 11 m stand vertically on a plane ground. If the
distance between their feet is 12 m, what is the distance between their tops?
(1)13 m (2) 14 m (3)15m (4)12.8 m

(11)  The height of a right circular cone whose radius is 5 cm and slant height is 13 ¢cm will be
(1)12 cm (2) 10 cm (3) 13 cm (4)5cm

secA cosecA

(12) sinA N COSA B
(1) cosA (2)sinA (3)cot A (4) tan A
(13) If 4 and B are mutually exclusive events then P (ANB)=
(1)0 2)1 (3)0.1 OF

(14)  The sum of all deviations of the data from its mean is
(1) Always positive (2) always negative (3)zero  (4) non-zero integer.













